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A 4 X Eih | B AR {ifi4& E5
EHN 6 Ri& 5kg 900 AiE
BHN 1B =I5 5kg 850 EiE
EHN 8E Ri& 5kg 800 AiE
BHN 102 =I5 5kg 750 EiE
HiLvbL 45/ FE 5kg 700
BV 23/24% &=E 5kg 900
Jy 10kg = 1A 3,300 KEEI) TE
7 8/9kg = 1A 2,600 KREIY EE
7Y 10kg Rt 1A 1,800 EiE
7Y 8/9kg i=Ean 1A 1,600 EE
15 6 = 5kg 800 EE
ES<Y 5/7kg ~IG 1A 2,200 TBE
AIA 4kg = XN 1A 2,300 #
14+ 8/102 = 5kg 2,300 EE EX
PSS 10/112 = 4kg 1,600 TE A
AXF 3/4kg =1 1A 1,200 TBE EX
AXFx 2E =1 4/5kg 1,150 EBE JEX
FEL 6/9E EE 5/6kg 1,100 BEAN TE
=D} 4/8F X5 2.8/3kg 2,600 £
VAP 3/4kg RIG 1A 2,900 # BEH
=B 4E = %0 4/5kg 3,300 # fEH
TB 2kg & FE 1A 2,600 7 T Wad
FH 2/3kg R 1A 3,200 EE E~
Eff 2kg R 1A 2,500 EiE
AWk th = 5kg 1,300
FHho =81 3kg 1,300
RAILTRRAILAH EE 300g 1,250 LY
BRALF¥ it LI =& 120g 500
<45 100/120g FEE 2,800
i/ \<45) 60/80g FE 2,300
miT24ZH #9800¢g Z 50 1,300
HA3LE 350/500g Z50 2,300
TRy¥H #9300¢g dbiEE 1,600




